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In non-right triangles we cannot use the primary
trigonometric ratio; there is no 90° angle, so there is no
hypotenuse!

However, there still exists relationships between the
sides and the angles in the triangle.

The relationships can be expressed in terms of sine or
cosine and are called the Sine Law and the Cosine Law.

We will study these laws over the next few days.
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Proving the Cosine Law:
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The Cosine Law (2 formats) for A ABC:

a’=b*>+c* —2bccos 4
or
b*+c*—a’

2bc

You decide which format to use depending on what
you are solving for.
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The Cosine Law can be re-written for the other sides and
angles of the triangle:
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Ex. 1 Find the length of side c.
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Ex.2 Solve for 6. 2 2 (R
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Assigned Work:

p.438# 2, 3b
p.443#2, 3, 4, 5a6)

May 14 - 9:42 PM

S)
MAm)  L=5Scm
m=4bem
n =33wnm
33
% tmf=
% N
C&L = M_z*“?-_ r-
Zmn
o L = (“T' -t@.%" - Q&Y‘
240033
il =

blae =

T

7N

2be

Dec 16-9:13 AM



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

